How to Solve Absolute Values on the Calculator

You can solve an absolute value equation by graphing.



Ex:  |  x + 3 |   =  8
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Go into your Y=…
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When you GRAPH it, you may not see both solutions…

Change the WINDOW slightly, by adjusting the x-min.
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Now, use the [image: image9.png]
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And move the cursor closer to the right hand point of intersection.  Repeat for the left hand point of intersection.   You have two solutions!

They are:  x =  _____  or  ______ .

But, how would you solve an absolute value inequality??
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The same way!

Ex:  |   2x + 1 |   <  8

Notice that in Y3, we have entered in an inequality relating Y1 and Y2. This can be done with the following keystrokes:
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What will the graph look like?  

 First, go into the Y= and de-select Y1 and Y2 by pressing ENTER when you are on top of the = sign.   The remaining graph will be just the inequality in Y3.
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You are seeing the number line with the solution set darkened.  It appears to go “between” –4 and 3.

Use the TRACE feature to run along the number line (x-axis), and watch the y-values.  When the y-value shows “0”, it means FALSE, and when it shows “1”, it means TRUE.
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So, what are the actual endpoints of the solution set on the number line?

Go back into the Y= and turn back on the graphs for Y1 and Y2.

You can use the procedure we used earlier: [image: image29.png]
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Or solve it by hand:

-8  <   2x + 1    <    8

Write the solution as a compound inequality:

